=)
<tV HBHRER> [BEfE B $Fn044E 094 08H]
<3iE#H>
BliA% [ - RE—] <FRI : RE—/V D (EHHS : 1 ~ 9999) YERKE 20224F 09 08H  ~— 1/ 1
o - " 45 [E] ool ] [E] 5y Kg Bl
[n]x=) R e N JENN N
BEL | Bk | REME | FHME | FHES| FHRE] KAl | FEE | PO | KeBl B0
HEfE I 5| 403,700| 210,100 341, 880 86 116 2,947 4] 326,700 2, 297 650
% 1| 358,600 1,793
e 4| 477,400 189,200 320, 375 77 79 4,055
(/2] 9| 477,400 189,200 332,322 82 100 3, 338 5/ 333,080 2,166 1,172
=
RIVAH A v T 42 38, 500 1, 100 7,281 44 64 113 48 8,571 117 -4
FS
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